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KANGOUROU MATHEMATICS COMPETITION 2016 (LEVEL 5-6)

3 point problems - mpoBAfuata 3 povadwv

1. Which of the following traffic signs has the largest number of lines of symmetry?
Molo oo Ta MAPAKATW onpata KuKAodopiag £XxeL To LeyaAUTEPO aplOUO YPAUUWY CUMUETPLAC;

(A) @ (B) . Q) @ (D) @ (E) .

2. Mike cuts a pizza into quarters. Then he cuts every quarter into thirds. What part of the whole pizza
is one piece?

O MudAng KOPeL pLa Tiitoa og TETAPTA. ITN GUVEXELA, KOPEL KABe TéTapTo ot Tpita. TL EPOG Tou
OUVOAOU TNC MiToOC €ival €va KOUUATL;

(A) a third (B) aquarter (C)aseventh (D)aneighth (E)atwelfth
(A) évatpito  (B) éva tétapto (C) éva £BSouo (D) éva oydoo  (E) éva Swdékato

3. A thread of length 10 cm is folded into equal parts as shown in the figure. The thread is cut at the
two marked places. What are the lengths of the three parts?

‘Eva vijpa pikoug 10 ekatootwy SUTAWVETAL OE (o0 HEPN, OTWCE daiveTal oto oxnua. To viipa KoBetal
ota dVo onueia onwg paivetal oto oxnpa. Mola eival Ta LAKN TWV TPLWV LEPWV;

(A)2cm, 3 cm; 5cm (B)2cm, 2 cm, 6 cm (C)1cm,4cm,5cm
(D)1 cm,3cm,6cm (E)3cm,3cm,4cm

4. On Lisa's refrigerator 8 strong magnets hold some postcards. What is the largest number of
magnets that she could remove so that no postcard falls to the ground?

216 Yuyeio g Allag 8 Loxupol HayvnTEG KpATOUV PEPLKA KOPT-TOOTAA. Molog eivat o peyaAUtepog
apLBUOC TwV payvnTwy nou Ba pnopouce va adalpéoel £TOL WOTE vVa KNV TEPTEL KAVEVA KAPT-TIOCTAA
oto £6adog;

magnet = Hayvntng

(A) 2 (B)3 (C) 4 (D)5 (E)6
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5. Cathy draws a square with side length 10 cm. She joins the midpoints of the sides to make a smaller
square. What is the area of the smaller square?

H Katepiva oxedlalel éva Tetpaywvo pe MAsUPEG 10 eKOTOOTWY. EVWVEL TA LECO TWV TTASUPWV YLa Vol
KAVEL £Va UIKPOTEPO TETPAYwWVO. Molo gival To euPadov Tou HIKPOTEPOU TETPAYWVOU;

10 cm
(A) 10 cm? (B) 20 cm? (C) 25 cm? (D) 40 cm? (E) 50 cm?

6. Alice's mother wants to see a knife on the right side of each plate and a fork on the left side. How
many interchanges of a knife and a fork does Alice need to make in order to please her mother?

H puntépa tng AAikng B€AeL va SeL éva payaipt otn g€ld mAeupd kABe TLATOU Kal Eva TILPoUVL OTNV
oplotepn MAeUPA. NOoeg eVAANAYEG EVOG LOXALPLOU KoL EVOC TILPOUVLOU TIPETIEL VOL KAVEL N AAIKN yla va
EUXOPLOTAOEL TN UNTEPQA TNG;

o1 101 10

(A) 1 (B) 2 () 3 (D) 5 (E) 6

7. A centipede has 25 pairs of shoes. It needs one shoe for each of its 100 feet. How many more shoes
does the centipede need to buy?

Mua capavtanodapouoa €xel 25 leuydpla amoutola. Xpeldletal éva manouTot yio ta 100 modia tng.
Moéoa akopn manouToLa TPEMEL VA AyopAaceL n coapavtanodapovoa;

(A) 15 (B) 20 (C) 35 (D) 50 (E) 75
8. Tom and John build rectangular boxes using the same number of identical cubes. How many levels
will John's box have?

O Tom kot 0 John xtileL opBoywvia KOUTLA XPNOLLOTIOLWVTAG ToV 1810 aplOuod Wbilwv kUPBwv. MNooa
enineda Oa €xeL To kouti Tou John;

Tom's box looks like this:
To kouti tou Tom daivetal €tot:

The first level of John's box looks like this:
To nmpwrto emninedo Tou KouTtloU Tou John ¢aivetal £Tat

(A) 2 (B)3 (C) 4 (D)5 (E)6
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9. On the left side of the room, Bea and Pia are sleeping with their heads on their pillows facing each
other. On the right side of the room, Mary and Karen are sleeping with their heads on their pillows
with their backs to each other. How many girls are sleeping with their right ear on their pillow?

TNV aploteph MAeUpd Tou Swuatiou, n Bea kal Pia kolwwouvtal pe Ta KedaAla Toug o€ paAapla
BA£movtag n pLa tnv aAAn. Itn 6£€la mAeupad tou Swpatiou, n Mary kal n Karen Kolpouvtal Ue to
KedAALa TOUC o€ PafAGpLa UE TIG TAGTEG TOUC N i oTnv GAAN. Mooa kopitola kolpouvtal pe to Sefi
ouTi Toug oTo pHagIAdpL TOUG;

e ) (C09
e ) C 8§

(A)O ()1 (C) 2 (D)3 (E) 4

10. The piece of paper shown is folded along the dotted lines to make an open box. The box is put on
a table with the top open. Which face is at the bottom of the box?

To KOUUATL TOU XapTLoU TTou GaiveTal SUTAWVETAL KOTA HKOC TWV SLOKEKOUUEVWV YPOULWY YLO VOl
SnuoupynoeL €va avolyto Kouti. To koutl TormoBeteital og €éva TPpAmETL UE TO AVOLYUA OTO AVW UEPOC.
Mowa £6pa gival 0TO KATW PEPOC TOU KOUTLOU);

A%B
CDE

(A)A (B) B @c (D) D (E)E

4 point problems - mpopAfuata 4 povadwyv

11. Which of the following figures cannot be formed by gluing these two identical squares of paper
together?

Molo amod Ta MAPAKATW OXNUOTA SEV UMOPEL VoL OXNUOTLOTEL e TNV KOAANGCN autwy Twv dU0
TIAVOLLOLOTUTIWY TETPAYWVWY XapTLOU;

(A) ‘

(B) ' () - (D)
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12. Mary, Ann, and Nata work in a kindergarten. Each day from Monday to Friday exactly two of them
come to work. Mary works 3 days per week and Ann works 4 days per week. How many days per
week does Nata work?

H Mapia, n Avva, kat n NatoAt epyalovral oe éva vhmaywyeio. Kabe pépa amod Asutépa £wg
Mapackeun akplBwe SV amo auTeg Epyovral va pyactolv. H Mapia epyaletal TpeLg NUEPEG TNV
eBSopada kal n Avva gpyaletol 4 nuépeg tnv efdopada. NMooeg pépeg tnv eBdopddo SoUAgUEL N
Natay;

(A)1 (B) 2 ()3 (D)4 (E)5

13. Five squirrels 4, B, C, D, and E are sitting on the line. They pick 6 nuts marked by crosses. At one
moment the squirrels start running to the nearest nut at the same speed. As soon as a squirrel picks a
nut it starts running to the next closest nut. Which squirrel will get two nuts?

Mévte okioupol A, B, C, D, kal E kaBovtal otn ypapun. Alaléyouv 6 Enpoug KapmoUg ToU CNELWVOVTOL
LE oTaupoUC. I€ HLO OTLYUN oL akloupol apXilouv va TpEXOUV MPOC TOV MANGLECTEPO ENPO KAPTIO LE TNV
161a TayuTNTA. ATIO TN OTLYUN TIOU €vag OKloupog Ttailpvel £va €EnNpo Kapmo apxilel va TPEXEL OTO EMOLEVO
TAnaléotepo Enpo kapmo. Molog okioupog Ba mapeL Vo Enpolg Kapmoug;

A B C D E

(A) A (B) B (cc (D) D (E)E

14. There are 30 students in a class. They sit by pairs so that each boy is sitting with a girl, and exactly
half of the girls are sitting with a boy. How many boys are there in the class?

Yrapyxouv 30 padntéc otnv tagn. Kabovtal ava 0o, £ToL wote KABe ayopL KABEeTOL Pe £va KOPLTOL, Kal
OKPLBWG TA HLoA amo ta kopitola kdBovtal e éva ayopl. Mooa ayodpla ival otnv TaEn;

(A) 25 (B) 20 (C) 15 (D) 10 (E)5

15. The number 2581953764 is written on a strip of paper. John cuts the strip 2 times and gets 3
numbers. Then he adds these 3 numbers. Which is the smallest possible sum he can get?

O aplBudg 2581953764 eival ypappévog oe pia Awpida xaptiou. O John k6BeL Tnv Awpida 2 dopég kat
naipvel 3 apBpolG. Itn cuvEXELa, TPooBETel auTolGg Touc 3 aplBuolg. Motlo sival to pkpdtepo Suvato
aOpolopa ou pPmopel va mapel;

(A) 2675 (B) 2975 (C) 2978 (D) 4217 (E) 4298
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16. Bart is getting his hair cut. When he looks in the mirror the clock looks like the one shown. What
would he have seen if he had looked in the mirror ten minutes earlier?

O Bart koupeUel ta poAALd tou. Otav kottalel otov Kabpedtn to poAdL poldlel e auTo ou dalvetal. Tt
Ba elye deL av eixe koltatel otov KaBpedtn déka Asmtd vwpltepa;

° °
d o
OJ !
o g
o o

17. Grandmother bought enough cat food for her four cats to last for 12 days. On her way home she
brought back two stray cats. If she gives each cat the same amount of food every day, how many days
will the cat food last?

H ylayLd ayopace apkeTd TpOPLUA YLA TG TECOEPELG YATEG TNG YLla va Slapkéoouv 12 nUEPEC.

210 6pOUOo yLa To oTitL €depe pall Tng dVo adéonoteg yatec. Av Sivel oe kABe ydta tnv idla moootnTa
TPOodNG KGO péEpa, MOoEC HEPEC Ba Slapkéael To GaynTo yLa TIG YATEC;

(A) 8 (B)7 (C)6 (D)5 (E) 4

18. Each letter in BENJAMIN represents one of the digits 1, 2, 3, 4, 5, 6 or 7. Different letters represent
different digits. The number BENJAMIN is odd and divisible by 3. Which digit corresponds to N?

KaBe ypappa otn Aé€n BENJAMIN avtutpoowrnelel éva amo ta Ynoia l, 2, 3,4, 5, 6 | 7. AtadopeTikda
ypaupata avtutpoownevouv dtadopetikd Pndio. O aptBudg BENJAMIN gival mepttrog Kat Stalpeitot
ue 1o 3. Mol Ynodio avtiotolxel oe N;

(A)1 (B) 2 (C)3 (D)5 (E)7

19. Tim, Tom and Jim are triplets, while their brother Carl is 3 years younger. Which of the following
numbers could be the sum of the ages of the four brothers?

Tim, o Tom Kat o Jim sivat tpidupa, evw o adeAdoc toug Carl ival 3 xpovia vedtepog. Molog amno Toug

TAPAKATW aplOUoUG Ba umopoloe va NTav To ABPOoLoUa TwV NALKLWY TwV TEToApwVY adeddwy;

(A) 53 (B) 54 (C) 56 (D) 59 (E) 60
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20. The perimeter of the rectangle ABCD is 30 cm. Three other rectangles are placed so that their
centres are at the points 4, B and D (see the figure). The sum of their perimeters is 20 cm. What is
the total length of the thick line?

H nepipetpog tou opBoywviou ABCD eival 30 cm. Tpia dAAa opBoywvia TormoBetolvtal £T0L WOTE T
KEVTpa Toug va Bplokovtal ota onpeia A, B kat D (BAémne oxrua). To ABpoLopa TWV MEPLUETPWYV TOUG
glvat 20 cm. Molo gival To CUVOALKO UNKOC TOU XOVTPNG YPAUUNAG;

A B
D C
(A) 50 cm (B) 45 cm (C)40cm
(D)35cm (E) impossible to determine (aduvato va unoAoyLotel)

5 point problems - mpoBAnuata 5 povadwv

21. Anna folds a round sheet of paper at the middle. Then she folds it once more and then one last
time.

H Avva SutAwvel éva otpoyyuAo GUANO xapTi otn pHéon. Metd SIMAWVEL akOUn Hia opa Kat oTh
ouvEXeLa pLa TeAeuTala dopd. (n AéEn fold onpaivel Suthwvw)

fold fold fold

. 1 N
1 S

In the end Anna cuts the folded paper along the marked line:
210 TEAOG N Avva KOBEL TO SUTAWMEVO XOPTL KATA UNKOG TNG YPAUUAC TTOU ONUELWVETAL:

N

What is the shape of the middle part of the paper when unfolded?
Moo elval To oXNUO TOU PECAIOU TUALATOG TOU XAPTLOU OTaV EESUMAWVETAL;

(A) (:E(B) D (€) E (D) z (E) E
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22. Richard writes down all the numbers with the following properties:
a. the first digit is 1,

b. each of the following digits is at least as big as the one before it,

c. the sum of the digits is 5.

How many numbers does he write?

O Richard ypddetL 6Aouc Toug aplBUoUC He TIG aKOAOUBEC LBLOTNTEC:

o. to mpwto Ynoio ivat 1,

B. kaBe éva anod ta enopeva Pnola eival TOoUAAXLOTOV TOGO PeyAAO G0O0 TO TIPONYOULEVO,
y. To aBpotopa twv Pndilwv eival 5.

Moéooug aplBuolg ypadel;

(A)4 (B)S5 (€)6 (D)7 (E)8

23. What is the greatest number of shapes of the form | | that can be cut outfroma5 X 5
square? -

MoLog eival 0 PeyaAUTEPOG 0PLOUOC OXNUATWY TNG LoPPNG | | TOL OTTOlO UTTOPOUV VA KOTIOUV o

TO TETPAYWVO 5 X 5;

(A)2 (B) 4 (C)5 (D)6 ( E)7

24. Luigi started a small restaurant. His friend Giacomo gave him some square tables and chairs. If he
uses all the tables as single tables with 4 chairs each, he would need 6 more chairs. If he uses all the
tables as double tables with 6 chairs each, he would have 4 chairs left over. How many tables did Luigi
get from Giacomo?

O Luigi €ekivnoe éva pikpo sotiatoplo. O ¢pidog Tou Giacomo Tou €6woe PEPLKA TETPAYWVA TPATETIL KL
KapEKAeC. EQv xpnoluomolel OAa ta Tpamella we pova Tpamnelia he 4 KapeKAEG To kabéva, Ba xpelaotel
OKOUN 6 KapEKAeG. Edv xpnolpomnolel OAa ta tpamnella we SutAd tpamelia e 6 KapEKAEG To KabBéva, Ba
elye 4 kapékheg neploosupa. Noca tpamella nrpe o Luigi amnoé tov Giacomo;

(A) 8 (B) 10 (C) 12 (D) 14 (E) 16

25. Clara wants to construct a big triangle using identical small triangular tiles. She has already put
some tiles together as shown in the picture. How many tiles does she need to complete a triangle?

H KAdpa B€AeL va KATOOKEUAOEL VAl LEYAAO TPlywVo XpNOLLOTIOLWVTAC TIOVOROLOTUTIO LKPA TPLYWVIKA

mAakakia. Exet nén BAAeL kamolo TAaKAKLa HeTOEY TOUC OTwG daivetal otny lkova. Noco mMAaKAKL
XPELATETOL YLOL VO CUUTIANPWOEL £vValL TPlywvo;

(A)5 (B)9 (C)12 (D) 15 (E) 18
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26. A big cube was built from 8 identical small cubes, some black ones and some white ones. Five
faces of the big cube are:

‘Eva peydhog KUBoG XTloTnKe amod 8 mMavouoLOTUTTOUG LKPOUG KUBOUG, LEPLKOUC LAUPOUG KAl LEPLKOUG
aompouc. OLévte £8peg Tou peyalou KUBou elval:

") "ShuNSulE"

What does the sixth face of the big cube look like?
Mwc polalel ) €ktn €8pa Tou Peyahou KUPou;

(A) E (B) E (€) E. (D) (E) u

27. Kirsten wrote numbers in 5 of the 10 circles as shown in the figure. She wants to write a number
in each of the remaining 5 circles such that the sums of the 3 numbers along each side of the
pentagon are equal. Which number will she have to write in the circle marked by X?

H Kirsten éypale aplBuolg os 5 amnd toug 10 KUkAoug, Onwg paivetal oto oxnua. OéAeL va ypael évav
oplBud os kaBe €va amo Toug UTOAOUToUG 5 KUKAOUG, £€ToL woTe Ta abpoiouata Twv 3 aplOpwy os Kabe
TIAELPA TOU TIeEVTAYwWVOoU £ival ioa. Molov aptBud Ba mpémet va ypdd el oTov KUKAO TTOU GNUELWVETOL UE

(A) 7 (B) 8 (€) 11 (D) 13 (E) 15

28. The symbols O, D, and A represent 3 different digits.
If you add the digits of the 3-digit number

the result is the 2-digit number DA

If you add the digits of the 2-digit number DA,

you find the 1-digit number I:I

Which digit does O represent?

To cUpBOAa, O , I:] Kol A avtutpoowrnelouv 3 Stadopetika Pndia.
Av tipocBéoete ta Pndio tou tpuhrdlou aplBuov

To amotéAeopa ival o Suprdlog aplBuog

Av pocBéocete ta Pndia tou 2-Pndlov aplbuol DA.,

Ba Bpeite Tov povondlo aplbuo D

Moto Ynodio avimpoowrnevel To ;

(A) 4 (B)5 (C)6 (D)8 (E)9
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29. A little Kangaroo is playing with his calculator. He starts with the number 12. He multiplies or
divides the number by 2 or 3 (if possible) 60 times in a row. Which of the following results cannot be
obtained?

‘Eva ULKkpO Kaykoupo Tailel pe tnv aplBpopnyavr tou. Apxilel pe tov aptbuod 12. NoAamAaoctalel i
Slatpei Tov aplBuo pe 2 f 3 (av eivat Suvatov) 60 popeg otn oelpd. Molo amnod To MoPAKATW
anoteAéopata Sev pnopel va AndOet;

(A) 12 (B) 18 (C) 36 (D) 72 (E) 108

30. Two 3-digit numbers have all their 6 digits distinct. The first digit of the second number is twice
the last digit of the first number. What is the smallest possible sum of two such numbers?

AVo 3-Pndlol aplBuot €xouv 6Aa ta 6 Pndia toug dtadopetikd. To mpwrto Pndio tou dsutepou
aplBpou eival Suthacto tou teAsutaiou Pndiou Tou mpwTtou aplBuou. Molo sival To HIKPOTEPO SuvaTto
aBpotopa SUo TETOLWY OPLOUWY;

(A) 552 (B) 546 (C) 301 (D) 535 (E) 537
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